Epithelium
(1) Cellular changes that strengthen the epithelium attachment include:

(a) Maculae

(b) Desmosome

(c) Tight junction

(d) Zonulae

(e) All of the above 
(2) Epithelium can be classified according to:

(a) The superficial layer

(b) Cellular specialization

(c) The shape of the cell lining the lumen

(d) All of the above 

(e) None of the above
  (3)All epithelia rest on 

(a)  Connective tissue

(b) Elastic fibers

(c) Basal lamina

(d)  Papillae

(e)  Capillaries

(4)Stratified squamous epithelium found in the following organ:
(a) Oesophagus

(b) Trachea

(c) Stomach

(d) Small intestine

(e) Urinary bladder

    (5) Which of the following statements about epithelium is not true: 

(a) Rest on basal lamina

(b) Cells are incapable of reproduction

(c)May contain modified cells related to function

(d) May be composed of many layers

(e) Separate the external and internal environment
(6) If you were to build a urinary bladder, keeping in mind the relation between structure and function , which type of epithelium would you use:
(a) Simple epithelium

(b) Keratinized stratified epithelium

(c) Transitional epithelium

(d) pseudostratified columnar

(e) Stratified squamous non keratinized
(7) Which of the following do not contribute to the intercellular attachment?
(a) Cilia
(b) Macula
(c) desmosomes
(d) zonula
(e) Tight junction
